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(1) SN2 BEANPZTH, MITEDLRNDT,
5+7=7+ 5

(2) 3208 ELTLE, THHFEZNATYH, MIFEDLLRNOT,
(2+3) +4=2+ ([ _3 +4)

(3) MITONLEENTLEZANILZ TS, HIIZEDLRWVWDT,
8 X 4= 4 X 8

(4) 350 ENTHEX, NFDIEFENZTYH, BIIEDL/RWDT,
(3x4) x2= 3 X (4x%x2)

(5) OXO+AXO= (O+A) XOLWHFHEDETFV oM L,
2X6+8x6= (2+8) X 6

(6) OXO—AXO= (O—A) XOLWHFHEDOEFEV ZoO0D &,
7X9—2x9= (7—2) % 9

BN 101 0182 TREEZBIEZA TR LERTY,
0.5x2=1 0.25%x4=1 1.25x8=10

M =] ROFET, 3HREOEEVEZESTTFOEIITBEXE L, IZHTITE 2
ANEL X9,
(1) 3.6%x2.5x%x4 (2) 7.2x3.54+7.2%x6.5
=3.6 % ( 2.5 | x4) =7.2%x (| 8.5 [+6.5)
=3.6%x10 =7.2%x10
= 36 = 72
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